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A PRIMER ON EDMONTON TRANSIT PASS MULTIPLIERS 

 

What is a pass multiplier? 

 

A pass multiplier is the average number of trips taken in a month by all those who have purchased a transit 

pass. 

 

Is there more than one pass multiplier? 

 

For every type of transit pass there is an associated pass multiplier.  So for example, there is a different 

pass multiplier for the adult pass than there is for a senior pass.  

  

What is it used for? 

 

Pass multipliers are used to calculate ridership.  Edmonton Transit ETS does not actually count rides as 

they occur on the system. Counting rides as they occur on the system would require electronic fare 

collection equipment that would record a customer’s payment and transfer transactions each time they got 

on a bus or LRT vehicle. Instead, ETS estimates the number of rides taken on the system at the end of 

every month based on the cash collected in the fare box and the number of fare products (i.e. tickets and 

passes) sold: 

 

 Cash – All the money collected in the fare boxes on the bus is counted and deposited in the bank. 

At the end of the month, the total dollar value of the money deposited is divided by the cash fare 

(e.g. $3.00) to determine the number of rides taken by customers who paid cash fare.  

 

 Tickets – At the end of the month, all the tickets ordered and distributed to the retail stores that sell 

transit fare product for ETS are totaled and added together with those sold through the LRT ticket 

vending machines to determine the number of rides taken by customers who paid a ticket fare. 

 

  Monthly and Annual Passes – Pass ridership is estimated by multiplying the number of passes sold 

or used in the month by the pass multiplier.  

 

How are pass multipliers calculated? 

 

The pass multiplier is different for each type of pass sold by ETS and its value is determined through 

customer surveys. The surveys tell us which fare product a customer is using and how many trips they are 

making. The standard survey question used to calculate the pass multiplier is: 

  

 “How many one-way trips (a one-way trip includes transfers) do you make in a typical week using 

 ETS?” 

 

The number of trips taken over a week vs. a month is easier for customers to recall. Responses are factored 

up by a multiple of four to get a monthly value. All surveys are generally accurate to within +3% (or 

better) 19 times out of 20. 

 

Pass multipliers are updated every 3 - 5 years if customer surveys indicate that a change in the value is 

warranted. Because pass multipliers are not seasonally adjusted (i.e. not changed from month to month), 

ETS typically looks at survey results from multiple surveys conducted over multiple time periods before 

making a decision to change a particular pass multiplier.   
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Why would a pass multiplier change? 

 

Pass multipliers can change for a number of reasons. Some of the most common reasons include:  

 

1. A change in fare policy – this happens when the conditions of use or the restrictions 

associated with a particular fare product changes. For example, when City Council 

approved changes to the youth monthly pass that allowed the pass to be used on weekends 

and increased the age limit from 15 to 17. Another example would be when City Council 

approved the family fare program that allowed up to four children ages 12 and under to ride 

for free with an adult using a day pass.  

2. Significant changes in price – or significant changes in the relative price between fare 

products. If pass prices increase significantly over a short period of time, as they did in 

Edmonton between 2007 to 2010, then those customers who are taking relatively fewer trips 

per month will be inclined to switch to cash or tickets or even stop taking transit altogether. 

This results in a higher pass multiplier since those that are still purchasing the pass are 

relatively heavier users that still find the higher pass price economically justifiable.  

3. Socioeconomic changes – over the course of several years certain socioeconomic changes 

such as the price of gas, parking, insurance, vehicle ownership, road congestion, 

environmental awareness etc. can influence ridership behavior  and therefore pass 

multipliers (i.e. the average number of trips per pass user). 

 

How accurate are the ridership estimates? 

 

It is important to remember that pass multipliers and ridership totals are estimates and subject to a margin 

of error. The surveys used to determine pass multipliers are also subject to a degree of methodological 

error.  However, Edmonton Transit is cautious in its approach. For example, surveys over time and using a 

variety of survey methodologies would be reviewed before making a decision to revise pass multipliers. 

There needs to be a trend overtime to demonstrate with confidence that a pass multiplier warrants a 

change. In addition, Edmonton Transit would look for other corroborative evidence as well. These would 

include trends in boarding counts, increases in travel activity overall (i.e. cordon counts), customer 

satisfaction levels and even ridership trends from other cities that may have similar fare programs. If 

anything, Edmonton Transit believes its metrics may actually understate real ridership levels at any point 

in time. 

 

What are the current pass multipliers for ETS? 

 

 1985 – 1998 
Multipliers 

1999-2005 
Multipliers 

2006-2010 
Multipliers 

2011-  

 Multipliers 

Adult Monthly Pass 43.4 46 54 58 

Post-Secondary Monthly 
Pass 43.4 46 

 
54 

 
58 

Youth Monthly Pass - 38.4 42 46 46 

AISH Monthly Pass n/a 27 27 27 

Senior Monthly Pass n/a 23 33 33 

Annual Senior Pass 11.7 23 33 33 

Annual Low-Income Senior 
Pass n/a 23 

 
33 

 
33 

UPass n/a n/a 40 47 

ETS Employee Pass    24 
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ETS RIDERSHIP CALCULATION (Bus and LRT) 
BRIEFING DOCUMENT (March 23, 2011) 

 

What is the definition of a ride and how is this different than a boarding? 

 

 A ride is a one-way trip from point “A” to point “B” including any transfers that may be required in 

order to get to a final destination. It does not matter if a customer transfers from a bus to the LRT or 

vice versa.  

 A boarding occurs every time a person gets on a bus or LRT train. A customer who gets on a bus, then 

transfers to the LRT to commute to work in the morning, would count as two boardings but only a 

single ride. The return trip home after work would be a second ride and two additional boardings. 

 

How does ETS count rides? 

 

ETS does not actually count rides as they occur on the system. Counting rides as they occur on the 

system would require electronic fare collection equipment that would record a customer’s payment and 

transfer transactions each time they got on a bus or LRT vehicle. Instead, ETS estimates the number of 

rides taken on the system at the end of every month based on the cash collected in the fare box and the 

number of fare products (i.e. tickets and passes) sold: 

 

 Cash – All the money collected in the fare boxes on the bus is counted and deposited in the bank. 

At the end of the month, the total dollar value of the money deposited is divided by the cash fare 

(e.g. $2.85) to determine the number of rides taken by customers who paid cash fare.  

 

 Tickets – At the end of the month, all the tickets ordered and distributed to the retail stores that sell 

transit fare product for ETS are totaled and added together with those sold through the LRT ticket 

vending machines to determine the number of rides taken by customers who paid a ticket fare. 

 

   

 

 

 

 

 

 

 

 Monthly and Annual Passes – Pass ridership is estimated by multiplying the number of passes sold 

(or valid) in the month by the average number of one-way trips that are taken by pass users in the 

month. The average number of one-way trips taken by a pass user per month is called the “pass 

multiplier”. The pass multiplier is different for each type of pass sold by ETS and its value is 

determined through customer surveys. The current pass multipliers used by ETS are as follows: 

 

  Monthly 

  
Pass 

Multiplier 

Adult Monthly Pass 58 

Post-Secondary Monthly 
Pass 58 

U-Pass 47 

Youth Monthly Pass 46 

1) Note that the tickets ordered by the retail stores may not actually be sold to 

customers in the month that the tickets are ordered.  

2) ETS does not count tickets deposited in the fare box as a means of 

determining ridership because many tickets do not end up back in ETS’s 

possession. For example, tickets used on the LRT are kept by the customer 

or thrown out after the expiry.  
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Pass multipliers are updated every 3 - 5 years if customer surveys indicate that a change in the 

value is warranted. Because pass multipliers are not seasonally adjusted (i.e. not changed from 

month to month), ETS typically looks at survey results conducted over different periods of time 

before making a decision to change a particular pass multiplier.   

 

 

 

 

 

 

 

 

 

 

Pass multipliers can change for a number of reasons. Some of the most common reasons include:  

 

a. A change in fare policy – this happens when the conditions of use or the restrictions 

associated with a particular fare product changes. For example, when City Council 

approved changes to the youth monthly pass that allowed the pass to be used on weekends 

and increased the age limit from 15 to 17. Another example would be when City Council 

approved the family fare program that allowed up to four children ages 12 and under to ride 

for free with an adult using a day pass.  

 

b. Significant changes in price – or significant changes in the relative price between fare 

products. If pass prices increase significantly over a short period of time, as they did in 

Edmonton between 2007 to 2010, then those customers who are taking relatively fewer trips 

per month will be inclined to switch to cash or tickets or even stop taking transit altogether. 

This results in a higher pass multiplier since those that are still purchasing the pass are 

relatively heavier users that still find the higher pass price economically justifiable.  

 

c. Socioeconomic changes – over the course of several years certain socioeconomic changes 

such as the price of gas, parking, insurance, vehicle ownership, road congestion, 

environmental awareness etc. can influence ridership behavior  and therefore pass 

multipliers (i.e. the average number of trips per pass user).    

 

 

 

 

 

Senior Monthly Pass 33 

Senior Annual Passes 33 

AISH Monthly Pass 27 

ETS Employee Pass 24 

Day Passes –Ridership for day pass users is calculated by multiplying total day 

sales for the month by 4 (the current day pass multiplier). 

The standard survey question used to determine ridership is  

 “How many one-way trips (a one-way trip includes transfers) do you make 

 in a typical week using ETS?” 

The number of trips taken over a week vs. a month is easier for customers to 

recall. Responses are factored up by a multiple of four to get a monthly value. All 

surveys are generally accurate to within +3% (or better) 19 times out of 20. 
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How accurate/reliable are ETS’s ridership estimates? 

 

They are about as accurate as they can be in the absence of equipment that would enable actual ride counts. 

ETS’s estimated ridership however is likely very conservative relative to true ridership levels given the 

following considerations: 

 

1. Many rides that occur on the system are not captured in the estimates because a fare is not paid 

(ridership estimates are based on fare box revenue and the sale of fare products). Examples of free 

rides not included in the ridership estimates: 

 children 5 years of age and under are not required to pay a fare  

 CNIB card holders 

 return trips on a single transfer 

 trips on ETS by St Albert and Strathcona County pass holders or those with valid 

transfers  

 DATS companion ridership 

 retiree ridership 

 some promotional/special event ridership (i.e. those that are allowed to show their 

“event badges” to ride transit 

 replacement pass ridership  

 police in uniform 

 some courtesy pass riders (although ETS makes an attempt to include this ridership 

when it can be reliably quantified) 

 rides granted through Operator discretion  

 

2. Similarly ridership that occurs through fare evasion (estimated to be between 3-5%) is not factored 

in to the estimates. 

 

3. Pass sharing – most ETS monthly passes are transferable; meaning that the pass can be used by 

someone other than the purchaser (but not at the same time). Some transit properties include a pass 

sharing factor in their pass multipliers. For example, Calgary estimates that five extra rides per 

month occur due to borrowed passes and includes this in their pass multiplier numbers. 

 

4. Benchmark pass multipliers – ETS pass multipliers are lower than most other transit properties 

(that still use pas multipliers) of comparable size. For example;  

 

  Adult 

Monthly 

Pass  

Student 

Monthly Pass  

Senior 

Monthly 

Pass  

Calgary  55.7 53.3 n/a 

Winnipeg  65.8 65.8 57.6 

Ottawa  54.4 61.8 45.9 

Edmonton 58 46 33 
 

Calgary, Winnipeg and Ottawa multipliers have not been updated since 2006 and may not update their 

#’s since all three are moving to smart cards. 
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Heritage Valley Existing Service 

  

Route 39  Route 47  Route 49  Route 347 

 

 

Century Park 

      331 
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Proposed Network Change in Heritage Valley 
 
 
 
 

 

Route 39  Route 47  Route 49 

Century Park 

      331       331 

• three routes instead of four 
• less overlapping service (more efficient) 

• less circuitous routes 
• service on James Mowatt Trail 
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